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3agaHuAa Ons
YCTHOU paboThHI




3aganue 1

IIpeocmaevme ¢ éuoe
npou3eeo0eHus:

a) m2-2mn+n?
0) 36x3+12x+1




3aganue 2

* 3amenume 3HaK * maKum 0OHOUIEHOM,
Ymo0Obl NOJIYUEHHOE BbIPANHCEHUE MONHCHO ObLILO
npeocmaeums 6 guoe Keaopama 08y4aeHa:

a) x2-4x+(*)
0) 816%+(*)+1




3aganue 3

Bovinonnume VYMHOIICCHUE:
a) (c+d) m
6) (ct+d) (m+n)




3aganue 4

» [Ipeocmaevme 6 suoe
MHO20UICHA:

a) (a-1) (a+1)
0) (a+56) (a-56)
g) (x+2) (2-x)




3agaHue o

e Boiuuciume:
a) 19 * 21
0) 39 * 41




3aganue 6

e Boinonnume YMHO2ICEHUeE.
a) (6-8) (8+6)
0) (5x2-1) (1+5x?)
) (-3c-2d3) (2d?3-3c)




OT1BeThI

1) a)(m-n)’
0) (6x+1)?

2)a) 4
6) 186

3)a) cm+dm
0) cm+dm+cn+dn

4) a) a*-1
0) a®-256°
g) 4-x?

e




OT1BeThI

5) a) (20-1) (20+1) = 400-1=399

6) (40-1) (40+1) = 1600-1 =1599
6) a) 62-64

6) 25x* 1

B) — (4d°% — 9c?)= 9c? 4d°
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